
2 
(a) (b) 

K570 20 

123 
m 

(c) (d) 
75o 

A 126 
m 

AH >B 

D 
Q 

4. 154/| m,t (R7Ix A fAN | 4. 

(a) (b) (C) 

120 

/ 60 

5.3 

1. 

b) eei a) i Ge 

c) tR 
2. 

a) 900 b) 180 c) 3600 d) 450 

3. 
a) 450 b) 1800 c) 900 d) 3600 

92 



q| 1, (UG ZI = 22 R R... 

a) 
b) Redi I 
c) AE 

d) 

4. T 

2 

m 

5 
a) 21, 3 

b) 2, 23 

c)2, 25 

d) 2, 5 

6. al b, c AUT fU, (UTE LY = ? 6. 
a) 900 

b) 1250 

c) 550 

d) 1800 

55 

7. al b, c r, qE y = ? 
b 

a) 900 

b) 250 

c) 550 

d) 350 
550 

8. 450 IR T AMR I RAA? 

a) 1350 b) 250 c) 35 d) 450 

9. 

a) 300 b) 250 c) 350 d) 450 

a) 600 b) 90 c) 180 d) Te RA 

11. zl I m, c RTR, CUCEx 1AN I 
a) 300 

b) 600 

c) 900 

d) 1800 
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12. f5alU m, c QT, x AA fEo 1| 

1300 
a) 500 

b) 130° 

c) 120 
d) 100 

13. l m, c (T, xa AA iA F1 

a) 100 

2x b) 20 
C c) 300 

d) 250 

a) 7 A 

d) 7A AN 

2. 1 1 AIRP 180° qI C 1 II 2. 

3 

4. 

6. 

7. 
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